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General Instructions :

(i) This question paper contains 34 questions. All questions are

compulsory.
(it)  This question paper is divided into two parts — Part — A and Part — B.
(itt) Part — A is compulsory for all candidates.

(iv)  Part — B has two options i.e. (I) Analysis of Financial Statements and
(1I) Computerised Accounting. Candidates must attempt only one of the

given options as per the subject opted.
(v) Question Nos. 1to 16 and 27 to 30 carries 1 mark each.
(vi)  Question Nos. 17 to 20, 31 and 32 carries 3 marks each.
(vit) Question Nos. 21, 22, and 33 carries 4 marks each.
(viit) Question Nos. 23 to 26 and 34 carries 6 marks each.

(ix) There is no overall choice. However, an internal choice has been provided
in 7 questions of one mark, 2 questions of three marks, 1 question of

four marks and 2 questions of six marks.
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1. (a) FoUS AU IAMY TH HH & AIPER 9 qT 2 : 1 % 4T § oY sied o | 3289
gfersr & @i B 1/59 9T o feTu AT 61 Teh T AISIER ST | JarsT a2 AT
& Ioft s ¥ 4,50,000 @M % 1,50,000 off | Afrar ot oSt % w9 A
% 2,50,000 g | AT o T 9 B <h SATT T oo T :
(A) % 5,50,000 B) % 8,50,000
(C) %12,50,000 (D) ¥ 4,00,000
e
(b) TR YT I HISER & a7 2 : 3 o IFATd H -8l sicd & | S84 T i o 3§
3/59 T o 70 Uk WreieR s, fSreht 1/59T 9T 364 Wi § 9T 2/531 9T
T T T foRaT | W, TR AT TH 1 1 A fasTSia 31geTa g
A 3:1:1 B) 1:1:3
©C 2:3:1 D) 2:3:3

2.  fwua (A) : ArSiEl UH T % Heg Wt B S SAeH <l A sl % foTu wend gu
2 Forgent gmer gt gr sreran et & for fordt uep g fepan s depar 2 |
FRUT (R) : AfE U TTRICR THI Thid 1 IS SATHTT AT & 94T BH o @1 Ficfirar

T &, dl I8 IHhT @l HT a1 a8 § 3fid aft W &1 a1
M |

frferRaa 3 @ wet forerew w1 = HIfAC :

(A) i (A) T9T (R) &1 # |

(B) @i (A) @1 (R) e & |

(C) 2T (A) 7T (R) &&l & 991 (R), (A) 1 &l ATEA1 R |
(D) NI (A) 7T (R) T&1 € 71 (R), (A) ! Tl =& TE1 § |
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1. (a)

(b)

PART -A
(Accounting for Partnership Firms and Companies)

Yuvraj and Yogesh were partners in a firm sharing profits in the
ratio of 2 : 1. They admitted Yogita as a new partner for 1/5th share
in future profits. Capital of Yuvraj and Yogesh were ¥ 4,50,000 and ¥
1,50,000 respectively. Yogita brought ¥ 2,50,000 as her capital. The
value of goodwill of the firm on Yogita’s admission was :

(A) % 5,50,000 (B) 8,50,000

(C) % 12,50,000 (D) % 4,00,000

OR

Monu and Sonu were partners sharing profits in the ratio of 2 : 3.
They admitted Ram as a new partner for 3/5th share in profits which
he acquired 1/5th from Monu and 2/5th from Sonu. The new profit

sharing ratio of Monu, Sonu and Ram will be :
A 3:1:1 B 1:1:3
) 2:3:1 D) 2:3:3

2. Assertion (A) : Partnership is the relation between persons who have

agreed to share the profits of the business carried on by all or any of

them acting for all.

Reason (R) : If a partner carries on any business of the same nature and

competing with that of the firm, he/she shall account for and pay to
the firm all profit made by him/her in that business.

Choose the correct option from the following :

A4)
B)
©)
D)

67/5/1

Both (A) and (R) are correct.

Both (A) and (R) are incorrect.

Both (A) and (R) are correct and (R) is the correct explanation of (A).
Both (A) and (R) are correct and (R) is not the correct explanation of (A).

AN Page 5 P.T.O.
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3. (a)
(b)

4 (a)

67/5/1

e fafies 32 10 v % 1,10,000 30 1 5= 20% Sftem w frifia
Topam T e, 3 2 ufd 319 1 oy e a9 3 3 gid 31 i 3rf<m A &
A T S I ET S AT | 3791 JT07 @I o STHT 9&T | Wit bl SRRt

(A) % 5,50,000 B) %7,70,000

(C) % 2,20,000 D) 5,00,000
et

e dasarFUT gE § ?

(A) T FreITeh S S & 3731 Gord ®9 8 gEa=aoiy T8 8 |

B) e dsft srfireT dft 1 a8 wm & e Am T g |

(C) et o sifgfiemt o & 1é goft & 3rferes Goft sHeeht wehfora Tl ohe wehell |

D) IS 1 ag TEl =M o g e et st & foeed % wma € wim S
b &, Uofl TaT HEAT 2 |

TS, UH qUT T Teh %H o AR & 9915 : 3 : 2 31UTd § ATl 1 [I9TeH i

21 1379, 2022 W 32 ATHI ! SR sied o1 Huig fran | 38 fafy 1 amm=

T=9 H 3 2,00,000 T I AT TUT AT @Td J T 4,00,000 T STHT A9 AT |

A TavTST 31gaTd # IREde o HIRoT U b forw st fafs geft

A==
fereron T i (3) | A (%)
A) | gE= =g @ am | 2,00,000
AT -1 W 2,00,000
B) | T 1 st @A I 80,000
T 1 S @ am 20,000
TS 1 Yol @ 1,00,000
(C) | A= H=g Wt Iw | 2,00,000
AT BT Wl Tm | 4,00,000
TS 1 Uof @ 2,00,000
TH ST ISt @ 2,00,000
T T Ul @ 2,00,000
D) | 9= F=g @ am | 2,00,000
AT - @ I | 4,00,000
TS 1 Yol @ 3,00,000
TH T 51 @ 1,80,000
T 1 Ul @ 1,20,000
Jneran
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3. (a) Aysha Ltd. forfeited 1,10,000 shares of ¥ 10 each issued at 20%
premium for the non-payment of first call of ¥ 2 per share and final

call of ¥ 3 per share. Share Forfeited Account will be credited with : 1
(A) 5,560,000 B) T7,70,000
(C) % 2,20,000 (D) % 5,00,000
OR
(b) Which of the following statements is true ? 1

(A) The shares of a public limited company are not freely transferable.

(B) Paid up capital is that part of the subscribed capital which has
been called up.

(C) The company cannot raise more capital than the amount of
capital as specified in the Memorandum of Association.

(D) The part of the uncalled capital which is called only in the event
of winding up of the company is called Capital Reserve.

4. (a) L, M and N are partners sharing profits in the ratio of 5 : 3 : 2. They
decided to share profits equally with effect from 1st April, 2022. On
that date, there was a balance of ¥ 2,00,000 in General Reserve and a
credit balance of ¥ 4,00,000 in the Profit and Loss Account. The
Journal Entry for the above on account of change in profit sharing

ratio will be : 1
JOURNAL
Particulars Debit Credit
Amt. ) Amt. )
(A) | General Reserve A/c Dr. 2,00,000
To Profit and Loss Alc 2,00,000
(B) | M’s Capital Alc Dr. 80,000
N’s Capital Alc Dr. 20,000
To I’s Capital Alc 1,00,000
(C) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000
To L’s Capital Alc 2,00,000
To M’s Capital Alc 2,00,000
To N’s Capital Alc 2,00,000
(D) | General Reserve Alc Dr. 2,00,000
Profit and Loss A/e Dr. 4,00,000
To L’s Capital Alc 3,00,000
To M’s Capital Alc 1,80,000
To N’s Capital Alc 1,20,000
OR

67/5/1 AN Page 7 P.T.O.
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(b) e, oTS qYUT A BIEER & aUT 2 : 3 : 1 % IIJUTd oA —g1f+ sied & | 1 313,
2022 H I 9igsT § i b1 3 : 2 : 1% U A died o1 i foram | -
B faarem srqura § afteds & 999 @rdl § gol 9 fohu Tu wHTeR 1 o, ot
e B f yeh R & fohar s

(A) TR % doft @l o T vat § @l B |
(B) YAHATHA GTd o ATH U&7 H Tl hieh |
(C) YAYcATRA @Td o STHT 9T H Wl b |
(D) TTIER % YSf @Tdi o ST 9 § Get1 Hieh |

5. @, @ a1 T <l Hrger B & faered & gug gfhd @ T 40,000 w1 f 8 9 form @
T gEATA fepa ST 2
(A) IR @l B) =g @
(C) dTZERI  YSht @ (D) & @rar

6. (a) UH U et YPae U fafire srafe i wmfeg w sty et i S smafy
H Ushyd AU fehvd § foha a8, 39 € 9 H S A4 |
(A) e o
(B) ferfere o o o=
(C) T=HT o=
(D) eI oI
Jreran

(b) T o Ted # f o T a1 o T A B 2
(A) =T 1 e e foren St EeaT 2 |
B) T o1 e o2 9w AT fomar St HehaT B |
(C) o=t o1 fervfo Tufedes faegfa & &9 A foran St wehan 2 |
(D) AT 1 e srferges 9w fora S whar 7 |
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(b) X, Y and Z are partners sharing profits and losses in the ratio of

2 : 3 : 1. They decided to share future profits in the ratio of 3:2 : 1
with effect from 1st April, 2022. At the time of change of profit
sharing ratio, unrecorded furniture will be recorded in the books of

Accounts by : 1
(A) Debiting it to Partners’ Capital Account

(B) Debiting it to Revaluation Account

(C) Crediting it to Revaluation Account

(D) Crediting it to Partners’ Capital Account

5.  On dissolution of the partnership firm of A, B and C, the accumulated

profits of ¥ 40,000 will be transferred to which of the following account ? 1
(A) Revaluation Account (B) Realisation Account
(C) Partners’ Capital Accounts (D) Bank Account

6. (a) The debentures which are payable on the expiry of a specified period
either in lump-sum or in instalments during the life time of the

company are known as : 1
(A) Secured debentures
(B) Specific coupon rate debentures
(C) Redeemable debentures
(D) Convertible debentures
OR
(b) Which of the following statement is incorrect with respect to debentures ? 1
(A) Debentures can be issued for cash.
(B) Debenture cannot be issued at discount.
(C) Debentures can be issued as collateral security.

(D) Debentures can be issued at premium.

67/5/1 AN Page 9 P.T.O.
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HifteR atier fefiee 3 31g fafiee & 7 3,60,000 Hea it it 1 s foram qen
% oI T PTaH T 100 Th b 11% FRITTHAT 1 10% g W i wees o |
iftrr 3rter fefires < gror fontfira o <61 o oft

(A) 3,600 B) 36,000

(C) 40,000 D) 4,000

far, gaa T &6 U FY o TSGR 9 q€T 3 : 2 : 1% AU H o1 Sied & | AT BH
T YT B T | gua <l Fanfef s fafdr 6 et 2 30,000 39 9 | A AEER 3
Tt feren fo6 3@ g A <fia anffes foeat o waet o Y wwifer & ey shtes femar
SIT@ | % 30,000 1 g&drawer e § & fora @ra # fopam s 2

(A) A T R0 @Al
(B) FHA % fIsuTeeh 1 @A
(C) gu 1 e @l

(D) gHA <t =] Wrdl

T shreufen uftferfa w1 ufed qem sHeh TR T I9a 9. 9 T 10 oh1 ST IWIT ;

T, i e st e wd i AR # 195 ¢ 3 1 2 % AU H oA siedt § | bl
Tyrft ISft shEeT: 7 1,80,000; 3 1,60,000 €T % 2,00,000 7 | 31 9T, 2022 1 FHT
LAY § e 3 yes fommet & 31=a ° 3 7,500 <1 T8 foa |

I TEHT b1 AT S T 37107 R AT Y M hl SRR, '
(A) 3% wEn B) 4% 7EN
(C) 7% HEM D) 6"EA

aEier TorE | ISt W 10% a1fieh e & 3191 < 1 YaeE 7 | 3frar Y Ooft s i
Tfar grf

(A) % 18,000 B) 16,000

(C) 20,000 (D) 10,000
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Premier Auto Ltd. purchased assets of the value of ¥ 3,60,000 from Anand
Ltd. and made the payment of purchase consideration by issuing 11%
Debentures of ¥ 100 each at a discount of 10 %. The number of debentures
issued by Premier Auto Ltd. were :

(A) 3,600 B) 36,000

(C) 40,000 (D) 4,000

Nita, Suman and Harish were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Suman retired from the firm. On the date of Suman’s
retirement, ¥ 30,000 was due to her. The remaining partners decided to
pay her in three yearly instalments starting from the end of the first year.
T 30,000 will be transferred to which of the following account :

(A) Suman’s Loan Account (B) Suman’s Executor’s Accounts

(C) Suman’s Bank Account (D) Suman’s Current Account

Read the following hypothetical situation and answer Question Nos. 9 and
10 on the basis of the same.

Nitya, Shreya and Ishita are partners in a firm. They share profits in the
ratio of 5 : 3 : 2. Their fixed capitals are ¥ 1,80,000; ¥ 1,60,000 and
¥ 2,00,000 respectively. For the year ending 31st March, 2022, Nitya
withdrew % 7,500 at the end of every quarter.

The average number of months for which interest on drawings will be
calculated, will be :

(A) 3% months (B) 4% months
(C) 7% months (D) 6 months

The partnership deed provided that interest on capital will be allowed
@ 10% p.a. The amount of interest on Ishita’s capital will be :

(A) 18,000 (B) 16,000
(C) 20,000 (D) 10,000



=

&

=

11. @eft, aftar qn aHet s wH o AIRigR 9 G 5 ¢ 2 1 3% ST § A9-g1H sfed o |

12.

13.

30 S, 2022 %! @il 1 9 71 T8 | ArEier] Horg § yana™ ot foh foret ot wmgier i
g & 9 gy i fafer 7o wH & 71 H I8eh W 1 0T Freel fF St ok 3fed o
H ¥ % 10,000 TR hT STRAT |

et fF awt % A 9
T FwIe /A ()

31 4, 2020 1,20,000

31 7, 2021 (50,000)

31 94, 2022 1,70,000
Ty 6t farfer qes e o et o1 9T o
(A) ¥ 35,000 B) 9,583
(C) 28,750 (D) % 8,750

% 10 % e |Har 319 o o g wist win off 78 oft en R w3 6 1 A fekan R,
T AT T BT WA = B W 0 H o mn | 3890 7 7 @ form =gaam o w
g fortfire femam S wreha 8 2

A4) 4 B) 10

(C) 16 D) %6

Tred W fRifid 3 10 W o 200 FHAT 39 T T 3 il 3791 <hl T A1 61 YT
T T T KL Toran | % 2 wfa arer <6t srfam areen st wift 7€ g ot | gt R
o TRt i SRt @it 3rer gt o A ey | Shi St 2

(A) 2,000 B) %1,600
(C) 1,000 D) 2,200
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Khushi, Namita and Manvi were partners in a firm sharing profits and
losses in the ratio of 5 : 2 : 3. On 30th June, 2022, Khushi died. The
partnership deed provided that on the death of a partner, her share of

profit till the date of death was to be calculated on the basis of average

profit of last three years less ¥ 10,000. 1
Profits for the last three years were :
Year ended Profits/Loss F)
31st March, 2020 1,20,000
31st March, 2021 (50,000)
31st March, 2022 1,70,000

Khushi’s share of profit till the date of her death was :
(A) 35,000 B) T9,583
(C) 28,750 (D) 8,750

An equity share of ¥ 10 fully called up on which ¥ 6 has been paid was
forfeited for the non-payment of the balance amount. At which of the

following minimum price can it be reissued ? 1
A T4 B) %10
€ %16 D) %6

200 equity shares of ¥ 10 each issued at par were forfeited for non-payment

of first call of ¥ 3 per share. Final call of ¥ 2 per share was not yet called. By

which amount the share capital will be debited on forfeiture ? 1
(A) T 2,000 B) 1,600
(C) T 1,000 D) 2,200

1 AN Page 13 P.T.O.
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14. 35, forsa 71 9o T HH & AT3GR & TUT 4 : 3 : 3 % 37U § o1 died & | 1 3794,
2022 ¥ I8 GATY I Th F1 HIHGR SHAT | 3G, [ooM, Fa TAT GUTY 1 F41 4
forTo 31gaT 3 : 3 : 2 : 2 BAM | 31 W, 2022 Wi 3 TRufer ferewor =1 3gwor T

TR B fen g
®) ®

frow SaR-wg@ w=™ | 80,000 | &9 @R 9o 7 80,000) | 90,000
U o T3 TR e SAR-=rgra T=’ &1 (901 U 8 hiF |1 oRgieh Tgl 8T 2

AT

Fan TR T T v
® ®)

@A) | Ay SaR-=eE T= @ ™ 10,000
MR EIERECIGI 10,000

B) | e IaR-Td F=F W ™ 80,000
$g 1 Ysft @rar 32,000
IEEREOR CIRCIk 24,000
LEEED R CIRCI Gl 24,000

(C) | gAYcaTh @ et 10,000
e IAN-wgE = @ 10,000

D) | A SaR-=ee T= @t ™ 80,000
v @ 10,000
g 1 Yol @ 28,000
forsrr o1 dSft e 21,000
EEEED R CIRCI Gl 21,000

15. (a) 3fHd, Gt qem fRamt |TSieR € @UT 2 < 2 1 1% JJITd H v -g1H &1 fowrsH
Fd & | G 1 HHRE ¢ o I G AT W 15% HHEE T 3 | FHIH ¢
T8 3g o % 9,20,000 7 | it 1 <7 Swefi g
(A) %1,20,000 (B) %1,38,000
(C) % 48,000 D) 55,200
Feran
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14. Indu, Vijay and Pawan were partners in a firm sharing profits in the ratio
of 4 : 3 : 3. They admitted Subhash into partnership with effect from 1st
April, 2022. New profit sharing ratio among Indu, Vijay, Pawan and
Subhash will be 3 : 3 : 2 : 2. An extract of their Balance Sheet as at 31st
March, 2022 is given below :

e Amount Amount
Liabilities Assets
® ®)
Investment 80,000 Investments 90,000
Fluctuation Reserve (Market Value Z 80,000)

Which of the following is the correct accounting treatment of ‘investment
fluctuation reserve’ at the time of Subhash’s admission ?

JOURNAL
Particulars Debit Credit
Amt. ®) | Amt. )
(A) | Investment Fluctuation Reserve A/c  Dr. 10,000
To Revaluation A/c 10,000
(B) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Indu’s Capital A/c 32,000
To Vijay’s Capital Alc 24,000
To Pawan’s Capital Alc 24,000
(C) | Revaluation Alc Dr. 10,000
To Investment Fluctuation Reserve 10,000
(D) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Investments Alc 10,000
To Indu’s Capital A/c 28,000
To Vijay’s Capital Alc 21,000
To Pawan’s Capital Alc 21,000
15. (a) Amit, Sumit and Kiara are partners sharing profits and losses in the
ratio 2 : 2 : 1. Sumit is entitled to a commission of 15% on the net
profit after charging such commission. The net profit before charging
commission is ¥ 9,20,000. The amount of commission payable to
Sumit will be :
(A) 1,20,000 (B) 1,38,000
(C) 48,000 (D) 55,200
OR
67/5/1 AN Page 15
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(b) o, R TUT TR TH HH H HIHER & AT 2 : 2 : 1% G § o714 sied 7 | 31
T, 2022 ! THE §¢ a9 o 7T 376 @I o ST 9ed | YSit T ATt bl @t 5%
ufd A H1 e 10% Fha a6 F G S | I R G R T 2,00,000;
% 1,00,000 @21 T 50,000 2t | FfE 1 e o ToTu Srrereeres SIS Tfaf® gnft -

AT

o Tmaw | s
®) ®)

(A) | b1 =1 =Te] @t Tm 2,000
FL T =] @Il 1,000
3TR <1 =Te] @l 1,000

B) | A 1= @ ™ 3,000
T T =] @Il 2,000
3TR T =] @Tdl 1,000

(C) |t =1 YSht @Tan ™ 2,000
o 1 Yol STl 1,000
3R T Y31t @rat 1,000

(D) | 9t =1 S @@ Tm 3,000
] 1 ISfl @ 2,000
3TR T it @rar 1,000

16. 3nfeed, rfima g 3iferd Teh wd & HEIGR 9 G 4 @ 3 : 3 & FTIITd H - afed
& | 31 9T, 2022 1 FH 1 foered g1 R | forered wfskan w1 qu s o for amfeea
frafa 1 78 frees fow 38 % 42,000 1 wifeafies ¢ o | snfees faeeq == =
& & foTu wgma &1 | e W arkfas =@ ¥ 33,000 7€, et spram anfee |
fopam | smifeea o Soft @ & ST v H @i 1 SeEedt it et
(A) T 42,000 B) 33,000
(C) %9,000 D) 18,000
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(b) P, Q and R are partners in a firm sharing profits and losses in the

ratio of 2 : 2 : 1. For the year ended 31st March, 2022, interest on

capital was credited to them @ 10% p.a. instead of 5% p.a. Their fixed
capitals were ¥ 2,00,000; ¥ 1,00,000; T 50,000 respectively. The

necessary adjustment entry to rectify the error will be :

JOURNAL
Particulars Debit Credit
Amt. @) | Amt. )
(A) | P’s Current Alc Dr. 2,000
To Q’s Current A/c 1,000
To R’s Current Alc 1,000
(B) | P’s Current Alc Dr. 3,000
To Q’s Current Alc 2,000
To R’s Current Alc 1,000
(C) | P’s Capital Alc Dr. 2,000
To Q’s Capital A/c 1,000
To R’s Capital Ale 1,000
(D) | P’s Capital Alc Dr. 3,000
To Q’s Capital Alc 2,000
To R’s Capital Alc 1,000

16. Aditya, Abhinav and Ankit were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. On 315t March, 2022, the firm was dissolved. Aditya was

appointed to complete the dissolution process for which he was allowed a

remuneration of ¥ 42,000. Aditya also agreed to bear dissolution expenses.

Actual expenses on dissolution amounted to ¥ 33,000 which were paid by
Aditya. Aditya’s Capital Account will be credited by :
(A) 42,000
(C) %9,000

67/5/1
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(B) 33,000
(D) 18,000
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17. Aayush and Aarushi are partners sharing profits and losses in the ratio of
3 : 2. They admitted Naveen into partnership for 1/4th share. Goodwill of
the firm was to be valued at three years’ purchase of super profits.
Average net profit of the firm was T 20,000. Capital investment in the
business was ¥ 50,000 and Normal Rate of Return was 10%. Calculate the
amount of Goodwill premium brought by Naveen.

18. (a)
(b)

19. (a)
(b)

67/5/1

Asha, Disha and Raghav were partners in a firm sharing profits in
the ratio of 2 : 3 : 1. According to the partnership agreement, Raghav
was guaranteed an amount of ¥ 40,000 as his share of profits. The
net profit for the year ended 31st March, 2022 amounted to
T 1,20,000.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31st March, 2022.

OR
Akhil and Nikhil were partners sharing profits and losses in the
ratio of 3 : 2. Their fixed capitals were ¥ 1,00,000 and ¥ 80,000
respectively. Interest on capital was agreed @ 6% p.a. Nikhil was to
be allowed an annual salary of ¥ 9,200. During the year 2021-22, the
net profit prior to the calculation of interest on capital but after
charging Nikhil’s salary amounted to ¥ 1,20,000.
Prepare Profit and Loss Appropriation Account of the firm for the
year ending 31st March, 2022.

Tarun, Abhishek, Kamal and Vivek were partners in a firm sharing
profits in the ratio of 5: 3 : 2 : 2. Kamal retired on 31st March, 2022.
Tarun, Abhishek and Vivek decided to share future profits equally.
On Kamal’s retirement goodwill of the firm was valued at ¥ 9,00,000.
Showing your working clearly, pass the necessary journal entry for
treatment of goodwill on Kamal’s retirement. It was decided not to
show goodwill in the books of the firm.

OR
Atul and Geeta were partners sharing profits in the ratio 3 : 2. Ira
was admitted into the firm for 1/4th share of profits. Ira brought
T 40,000 as her capital. The capitals of Atul and Geeta after all
adjustments relating to goodwill, revaluation of assets and liabilities
etc. are ¥ 60,000 and ¥ 40,000 respectively. It is agreed that capitals
should be according to the new profit sharing ratio.
Calculate the amount of actual cash to be paid off or brought in by
the old partners. Pass the necessary journal entry/entries for the
same.

3
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20.

21.

22.

Vimal Ltd. purchased assets worth ¥ 5,00,000 and took over liabilities of
% 1,00,000 of Kapil Ltd. for a purchase consideration of T 4,50,000. Vimal
Ltd. paid one third of the amount by cheque and balance was settled by
issuing 11% debentures of ¥ 100 each at a premium of 20%.

Pass necessary journal entries in the books of Vimal Ltd. for the above
transactions.

Narmada Ltd. has an authorized capital of ¥ 10,00,000 divided into equity
shares of ¥ 10 each. The company issued a prospectus inviting
applications for issuing 80,000 equity shares. The company received
applications for 75,000 equity shares. All calls were made and were duly
received except the first and final call of ¥ 2 per share on 5,000 shares
held by Arti. These shares were forfeited.

(a) Present the share capital in the Balance Sheet of the company as per

Schedule III, Part I of the Companies Act, 2013.
(b) Also prepare ‘Notes to Accounts’ for the same.

Sonali, Sohan and Shivain were partners in a pen manufacturing firm.
They were sharing profits and losses in the ratio of 2 : 2 : 1. On 31st
March, 2022 their Balance Sheet was as follows :

Balance Sheet of Sonali, Sohan and Shivain as on 31st March, 2022

67/5/1 AN Page 21 P.T.O.

Liabilities Amount Assets Amount
®) ®)

Capital Accounts : Land and Building 6,00,000

Sonali — 4,00,000 Plant and Machinery 5,00,000

Sohan — 4,00,000 Debtors 1,60,000

Shivain — 4.00,000 12,00,000 | Stock 1,40,000

General Reserve 1,00,000 | Cash in hand 1,20,000

Creditors 3,60,000 | Cash at Bank 1,80,000
Bills payable 40,000

17,00,000 17,00,000

Sohan died on 30th June, 2022. According to Partnership Deed, his
executors were entitled to :
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23. (a)

(b)
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(1) Interest on capital @ 12% p.a.
(i1) His share of goodwill which was ¥ 48,000.
(111) His share of profit till the date of death was to be calculated on the
basis of sales. The sales from 1st April, 2022 to 30th June, 2022 were
T 2,50,000. The sales and profits of the firm for the year ending 31st
March, 2022 were ¥ 20,00,000 and ¥ 5,00,000 respectively.

Prepare Sohan’s Capital Account to be presented to his executors. 4

23. (a) Vani Limited invited applications for issuing 1,00,000 equity shares of
% 10 each at a premium of 10%. The amounts were payable as under :
On Application and Allotment — ¥ 4 per share (including premium 1)
On first call — 4 per share
On second and final call — X 3 per share
Applications for 1,50,000 shares were received and pro-rata allotment
was made to all the applicants.
Excess application money was adjusted towards sums due on calls.
Parth, a shareholder who had applied for 600 shares did not pay the
first call. His shares were forfeited. The second and final call was not
yet made. Half of the forfeited shares were reissued at ¥ 8 per share
fully paid up.
Journalise the above transactions in the books of Vani Limited by
opening calls in arrears and calls in advance account wherever
necessary. 6
OR
(b) Pass necessary journal entries for forfeiture and reissue of forfeited
shares in the following cases :
(1) Vipin Ltd. forfeited 10,000 shares of ¥ 10 each issued at a
premium of ¥ 1 per share, for non-payment of second and final
call of ¥ 2 per share. Out of these, 60% of the shares were
reissued at ¥ 7 per share fully paid up. 3
(1) Deepak Ltd. forfeited 800 shares of ¥ 10 each, ¥ 8 per share
called up, for non-payment of first call of ¥ 3 per share. All the
forfeited shares were reissued for ¥ 12 per share fully paid. 3
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(a) Kamal, Rahul and Neeraj were partners in a firm sharing profits and

losses in the ratio of 5 : 3 : 2. On 31st March, 2022, their Balance

Sheet was as under :

Balance Sheet of Kamal, Rahul and Neeraj as on 31st March,

2022
Amount Amount
Liabilities Assets
®) )

Capitals : Land and Building 1,70,000
Kamal 1,20,000 Plant and Machinery | 2,60,000
Rahul 1,20,000 Stock 1,00,000
Neeraj; 1,20,000 | 3,60,000 | Debtors 80,000
General Reserve 1,20,000 | Cash 50,000

Sundry Creditors 1,80,000
6,60,000 6,60,000

On the above date, Rahul retired and following terms were agreed

upon :

(1) Goodwill of the firm was valued at ¥ 3,50,000.

(1)

An item of ¥ 10,000 included in Sundry creditors is not likely to

be claimed and hence written off. Stock was valued at ¥ 90,000.

(ii1)

Capital of the new firm was fixed at ¥ 2,10,000 and the same

will be adjusted in the profit sharing ratio of the remaining

partners. For this purpose the required cash will be brought in

or paid off as the case may be.

(iv) Amount payable to Rahul will be transferred to his loan

account.

Prepare Revaluation Account and Partners’ Capital Accounts on

Rahul’s retirement.

OR
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(b) Ashish and Vishesh were partners sharing profits and losses in the

ratio of 3 : 2. Their Balance Sheet as at 31st March, 2022 was as

67/5/1

under :

Balance Sheet of Ashish and Vishesh as at 31st March, 2022

Amount Amount
Liabilities Assets
® ®
Creditors 30,000 | Cash at Bank 50,000
Outstanding Debtors 80,000
electricity bill 20,000 Less : provision for
Capitals : bad debts 2,000 78,000
Ashish  3,00,000 Stock 1,12,000
Vishesh 2,00,000 | 5,00,000 | Machinery 3,00,000
Profit and Loss Alc 10,000
5,50,000 5,50,000

On 1st April, 2022, Manya was admitted into the firm with 1/4th

share in the profits on the following terms :

(1) Manya will bring ¥ 1,00,000 as her capital and ¥ 50,000 as her

share of goodwill premium in cash.

(11) Outstanding electricity bill will be paid off.

(ii1)

Stock was found over valued by T 12,000.

Pass the necessary journal entries in the books of the firm on

Manya’s admission.
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25. C, D, E were partners in a firm sharing profits in the ratio of 3 : 1 : 1.
Their Balance Sheet as at 31st March, 2022 was as follows :
Balance Sheet of C, D and E as at 31st March, 2022

Amount Amount
Liabilities Assets
®) ®)

Capitals : Machinery 3,20,000

C— 4,00,000 Investments 3,00,000

D - 2,00,000 Stock 2,00,000

E - 1,00,000 7,00,000 | Debtors 1,00,000

C’s Loan 1,20,000 | Cash at Bank 2,00,000
Sundry Creditors 1,00,000
Bills payable 2,00,000

11,20,000 11,20,000

On the above date the firm was dissolved due to certain disagreement

among the partners :

(1) Machinery of ¥ 3,00,000 were given to creditors in full settlement of
their account and remaining machinery was sold for 310,000.

(11) Investments realised ¥ 2,90,000.

(111) Stock was sold for ¥ 1,80,000.

(iv) Debtors for ¥ 20,000 proved bad.

(v) Realisation expenses amounted to ¥ 10,000.

Prepare Realisation Account. 6

26. Chiranjeevi Limited issued 2,000, 10% debentures of ¥ 100 each. Pass the
necessary Journal entries for the issue of debentures in the following
cases :

(a) When debentures were issued at 10% premium, redeemable at 5%
premium.

(b) When debentures were issued at 5% discount, redeemable at 10%
premium.

(¢) When debentures were issued at par, redeemable at a premium of
10%. 6
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PART-B
OPTION -1

(Analysis of Financial Statements)

27. (a) Which of the following are not tools of Financial Analysis ? 1

(1) Cash Flow Statement (1) Income Statement
(111) Balance Sheet (iv) Ratio Analysis
A) () and (1) B) (i) and @v)
(C) (1) and (ii1) (D) (i1) and (1v)
OR
(b) Which one of the following statement is incorrect ? 1

(A) Liquidity ratios are calculated to measure the short term

solvency of the business.
(B) Current ratio is also known as Acid Test Ratio.

(C) Solvency ratios are calculated to determine the ability of the

business to service its debt in the long run.

(D) Proprietary ratio expresses the relationship of proprietor’s

funds to net assets / total assets.

28. (a) Which of the following transaction will result in no flow of cash ? 1
(A) Purchase of machinery
(B) Sale of investments
(C) Acquisition of machinery by issue of equity shares
(D) Redemption of debentures
OR
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(b) Match the transactions given in Column — II with their correct category
given in Column — I for the purpose of preparation of ‘Cash Flow

Statement’. 1
Column -1 Column - 11
(a) Investing Activity (1) Interest paid

(b) Financing Activity (i) Purchase of Goodwill

(¢) Operating Activity (i11) Cash receipts from sale of goods
@ ® (©

@) @) @ @

B @ @ W

© @ @) @)

®) @) @) @

29. The current assets of X Ltd. are ¥ 2,00,000 and its current liabilities are
% 1,50,000. If, its working capital turnover ratio is 6 times, its revenue

from operations will be : 1
(A) %2,00,000 B) T 3,00,000
(C) %2,50,000 (D) % 1,50,000

30. Which of the following activities are operating activities for the purpose of
preparing ‘Cash flow statement’ ? 1

(1) Dividend and Interest received on securities.

(i) Payment of employee benefit expenses.

(i11) Cash receipts from royalties and fees.

(iv) Issue of shares against purchase of machinery.

(A) (@), (11) and (111) (B) (1), (111) and (@v)
(C) (@), @) and @(@v) (D) (@1) and (ii1)

31. Name the major heads and sub-heads under which the following items
will be presented in the Balance Sheet of a company as per Schedule III,
Part I of the Companies Act, 2013 : 3

(a) Goodwill
(b) Debenture Redemption Reserve

(¢) Licenses and Franchise

67/5/1 AN Page 33 P.T.O.



@
El H]

32. “¥% T qohrilsh & foreH TN Haei o AN g STl Sl YH-avfiha foha ST & 1
ST Y H TRl deheileh ohl TE=IM <hITSTT a1 36 fehedl a1 3eal bl Seoi@ HifT |

33. (a) T g @ sTrfiiyes qen srfam wies Y o i
Tieh 3ATeRT AU — 4 IR

Hohol oY = J=ToT 8 3T T 20%

=T § 3P = T 10,00,000

AR Wik, 3f=H i 1 25% B |

YA

(b) e fAfieg 1 wur-uwar 31U 2 @ 1 3 | RO afgd Farse fob e oimet & wor-

THAT STATA T, T AT $EH i IR T g -
@ ¥ 3,00,000, 9% FOTIHAT T THAT I T THEAT |

(i) eTer ¥ T 1,00,000 shi e 9Ife |
(i) ¥ 10,00,000 % 11% SROTIET hT NG |
(iv) T 4,00,000 % HTA T TR 5 |

34. T wreufes wum w1 ufew qur 3Hh JTER 9 A fou e gt % 3 i
T8 2019 ¥ arfefa 7 fres foafies’ 9@ =1 3191 wRé-3m I fRa | e

ferfireg us Sfaes @ feprem aTeft 3618 2 | TR & Ui ArTEehdT & HROT TR 68

ST & IHHT Y §G T 2 |
31 UTH, 2022 1 FHTE gL 99 o fore fbew fafies & feufa faawor o frm g sgfa
HITE
31 W, 2022 31 urd, 2021
® ®

uar 379 Sl 90,00,000 60,00,000

11% =RoT9= 30,00,000 50,00,000
T (AT oI W) 28,00,000 20,00,000
T R Rhd s 90,000 60,000

67/5/1 AN Page 34




mE

EI H]

32. “It is a technique which involves regrouping of data by application of
arithmetical relationships.” Identify the technique highlighted in the
above statement and state its any two objectives. 3

33. (a) From the following information, calculate the value of opening and
closing inventory :

Inventory Turnover Ratio — 4 times
Gross Profit = 20% on Revenue from operations
Revenue from operations =% 10,00,000
Opening inventory is 25% of the inventory at the end. 4
OR
(b) Debt-Equity Ratio of Z Ltd. is 2 : 1. State with reason whether the
following transactions will improve, decline or will not change the
debt-equity ratio :
(1) Conversion of ¥ 3,00,000, 9% debentures into equity shares.
(i) Cash received from debtors ¥ 1,00,000.
(i11) Redemption of ¥ 10,00,000, 11% debentures.
(iv) Purchase of goods on credit ¥ 4,00,000. 4

34. Read the following hypothetical text and answer the questions given
below on the basis of the same :

Aditi, initiated her start-up ‘Fizz Ltd. in 2019. ‘Fizz Ltd. is an
organic juice extracting unit. Its profits are increasing year-after-year
because of the increasing awareness towards health. 6

Following information has been extracted from the Balance Sheet of ‘Fizz
Ltd.” for the year ended 31st March, 2022 :

31st March, 2022 | 31st March, 2021
®) ®)
Equity Share Capital 90,00,000 60,00,000
11% Debentures 30,00,000 50,00,000
Machinery (at cost) 28,00,000 20,00,000
Accumulated Depreciation on
Machinery 90,000 60,000
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311‘?!'&8?-[‘{33:":

(i) o % S T 4,00,000 AT <ht Teh T T fospa T 30,000 o o T femam 7 |
(i) o o efit oX S T gedsE € 50,000 9T |

(iii) 11% O W YT 96T T STt 6t U T 5,50,000 2 |

(iv) THAT 3T W T 3,00,000 o AT T PTAM foha1 717 |

(v) RO T YA 31 A, 2022 w1 10% Sifere ox foherm mam |

Fopew fafires it framr wiafafermy’ qen ferdia nfafafemt & g yarg st o hifs |

-9
foremea - 11
(AR wETR)

(a) TH UH Ugqd H Tk &9 (Fieg) 9M fored & fore suam e st gend ael s1fkrepan
T (hiFeH) i T :
A) 28 B) 32
(C) 64 D) 104
A
(b) weh3fie  fasmifea 6 72 rf<m fran =1 3o & fou fm o @ 7 &t FAE @
ST R 2
@A) g B) H
(C) U= D) Gy

T g S0 3181 (TeHEH) AU HAER Gftrferd &, Heam ¢ -
(A) it (HiaRifiEe) HigH

(B) @S (i) HrgH

(C) eI higH

(D) =t wETe (FHI) hig
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Additional Information :

(1) During the year, a machine costing T 4,00,000 was sold at a gain of
% 30,000.

(1) Depreciation charged on machinery during the year was ¥ 50,000.
(i11) Interest paid on 11% debentures amounted to ¥ 5,50,000.

(iv) Dividend of ¥ 3,00,000 was paid on equity shares.

(v) Debentures were redeemed at a premium of 10% on 31st March, 2022.

Calculate cash flows of ‘Fizz Ltd.” from ‘Investing Activities’ and

‘Financing Activities.’
PART - B
OPTION -11

(Computerised Accounting)

27. (a) Maximum number of characters that can be used to write a field

name in MS Access is : 1
A) 28 B) 32
(C) 64 (D) 104
OR
(b) Which of the following command reverses the last action performed
in the worksheet ? 1
(A) Undo (B) Cut
(C) Paste (D) Redo
28. Codes comprising of alphabets or abbreviation are knownas __ . 1
(A) Sequential codes (B) Block codes
(C) Number codes (D) Mnemonic codes
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29. (a) T d 9 HE A1 TE-UE 1 (HHH) HT dh (TRHS) T8 7 2
A) TI-AG-TF (FF-FF-2)
(B) T — e — ITEA (e — 9 — HieH)
(C) T —AfE — 318 (I — T — HicH)
(D) dfehes wie (SATRTheT 382)

srran
(b) 9 U Tt Tehge T Go ToharT ST 2 A1 foha! Tem ahefie femms <t 2 2
A) B) =X
©) O @

30. Ffrad @S w o e HT T & B ?
(A) 3ttt 1 BHT ST (Freie)
(B)  Suwirerat ffigol
(C) ¥ ol Uferd eI Uferd ol TR | o STHT
(D) 3AThel I S AT T AR T8 HLHABAT R |

31. o= 1 waesU
(a) WIS (scATeh) hiS

(b)  ITTHIE Ble
32. UTH /=TS 1 ITANT H o fergl d ATHI 1 THIATST |

33. (a) TG Tsh ol TRYTNG HINTT qUT Teh oiGioh wsh H HfRIfoTd STl bl

HHEATLT |
e
(b) ARl crETR JUITCR o TREITCHe 1Y o &9 § TTHTE TR qT ‘ST 3Aftee’
%1 37 TE HIf |

34. 39 3Yfg HT A FARY S I9 Tehe Bt & T ol ded (XBF) 39 T Fran | IJoo@
Fifse fop o 311 O Goifera 6 s R |
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Which of these is not a argument of the IF function ?

(A) Value-if-true (B) Value-when-false
(C) Value-if-false (D) Logical test
OR
How many blank worksheets are shown when a new workbook is
created ?
(A) Three (B) Four
(C) One D) Two

Which of the following is not the advantage of Pivot table ?

Filtering of data
User-friendly
Moving rows to columns and columns to rows

Cannot summarise large amount of data

Explain the following :

Block codes

Sequential codes

Explain any three advantages of using graph/chart.

Define Accounting cycle and state the phases involved in an
Accounting cycle.

OR

Explain the meaning of ‘Password Security’ and ‘Data Audit’ as
security features of Computerised Accounting System.

Name the error which appears when the cell reference is not valid. State

how this error can be corrected.

29. (a)
(b)
30.
A)
B)
©)
D)
31.
(a)
(b)
32.
33. (a)
(b)
34.
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